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A:\>red testl.cO
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U #include <stdio.h>
main(){
printf("This is a program.\n");

}

A:\>lcc testll

cpp -DLSI_C -IE:\LSIC\INCLUDE -j -o E:1.3$$ testl.c
cf -chut j E:1.$$$ E:2.$3% E:3.$$$

cg86 -v E:2.$$$ E:3.$$$

main S

r86 -o E:testl.obj -m testl E:3.3$$$
11d @link.i

A:\>testl1[
This is a program.
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obOoobOoboooboobooooobobooooobooboooooboobooooooon

#include <stdio.h>

main(){
goooono
}

OO00#nclude 000000000000 stdiehDO00O0ODO0ODOOO0O0OOODOOOO0OOOOOOO
goooboooobooboobooobooooobooooobooooboobobooooobooon

main( {00000 main000000000000O00OO0DO0O0OO0ODOOO0O0ODOOODOOOO
oboobo0ooooooooooobbbob0odbDmain DO0OODOOOODODOOOOOOODODDO
gbooobobooboobooooboobon
gobobobooobooooboooobooooboooboooo;b0obobo0obooboboboOoboono
obooooboooooobobooboooboooobooboooooobooboboooooooboooon
goooobooboobooboooooobobooooboobooobooboooobooboooooobooobooo
goboobOobooboobOoooooobooooo

000 j00ooooooooooo {j0o()0ooOO0OO0O0O0OD000 JO0mein0000000OO
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5.2 printfO00 00

gooboobboboooooobbooboooobbboob bbb obOoob oo
00000000000 000o0o0oU0oUOoU00o0000D000D000D000 prntf)OOO
0000000000000 ooOooo0Upintf) 000000000000 DOO0OOOOODOODOOO
ogooooooobooo

00000000000 printf(’0000D0™)D00000O()00OO0”?00000000000000
00000000000000000000000000000D 000000 oO0oDOoDOoOo\O%0OO
000000000000000000000000000000000000000\nOO0DODOOODO
O000\n000000000D000000000000000D000000O0O00O00O0O0OOO0OO0
00000000000 000000000I 0000000 0printf(”This is a program\n”)0 00
O00000OThisisaprogram. 0000000000000 OODOODOO

gobogn

0000000000000 0O000D0000000OO (hello.c)
ooo00o0oo0oo(()ooooooUooOooOoooDOo0ooO0o0ooLOO0oUD0oUOoOo0ooooDoUOoooo
gooono

A>hello
sokokokokok ok k ok

* HELLO =*
ok okokok ok kK K
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ooooobboobooooooobbobooubbbo0o00oooobD Db obOboooooooobooo
JooobobooobooooboboooooooOb o0 oo bbb ooUoobboobooa
gooboooooooooo

000000000000 000000000000000000000-327680043276700000
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00000000 ()oob0ooUoO000O00OLO000ObLO0OLO0O0O0OD0O0OODLOODOUODOO

gdoobooobodoooboooboooob bbb oooooooDoooooooon
000000Oint a,b,e; 00000 a, b, c 0000000000 ODODODOODODODOOO

O000ooooooooDobbobobb0b0Ob00a=3; 00 a0000000a=345;, 00 Oa=5-3; 0O
00a=5*3; 00 0a=15/3; 00 0a=16%3;000 00 M b=3; a=b+3; a0 0000 Ja=3; a=a+3; all
gddodoooobodobD=0000a000000000000000000D0OODODO0OODODO0O
goodooboboboooogo

0000000000000 D00000pnntf00D0O00DOOOOODOODOO

OO000 printf("\%d",a); a000O00000OO0OODOCOCO

%0000000000000000000000D000dD 1000000000000 OprintfO00O0O
000000000000%4d0000000000000000000000000000O0O0O0O0OO
ooood

goog
00000000000000000D0Od (printf.c)
00 #include <stdio.h>
main(){
int 1i,j;
i=3;j=5;

printf ("i+j=ld di-j=id \n",i+j,i-j);
}

000000000000 000
i+j=8 i-j=-

booboobobooooboooooobooooooboboooboobOoboooooooooo
00000%d000000o0oo0oooooooo

5.4 forO

for000000D00OO0O0OO0ODOOOOODOOODOOOOODODOOOODOOOOOOODOODO
gboooboooooobooo

OO0for (O ;0 ;0 )0 ;
go0o0000o0O0o0Oo00obo00oo0ob0o0ooobooodfer0000D0O0OO0O0OOODO0OOOOOOOObOOOn

uboooboobooooboboboooboobooooboooobooooobooooooooboobooo
oood



000 for (i=0;i<100;i++) printf("%d\n",i);

oob++00000000C000OOCDODOO0DO0OOD00DOO0ODODO0OCO0OObDOObDDbDObObOOO
1i000000ooOooooooogooo:iooolo00bbooooo0obOooooOoicgonoiooonoo
o0doodoooooloooooooib0oboo0ooOo0DbOoooo0i00o0booo0obooooog
ooooooOoooooooooo

000000000000000000000000{}000000000000000000 HaHaHa
OCyaCyaCya0OODOOOOO1000000000DOO HaHaHaO 10000000000 CyaCyaCya
ooooo

for (i=0;i<10;i++) { for (i=0;i<10;i++)
printf ("HaHaHa\n") ; printf ("HaHaHa\n") ;
printf ("CyaCyaCya\n") ; printf ("CyaCyaCya\n") ;
}
ogooo

booooboooobobooboobooooooboobobOoboooboOobOoboOooobooOoDno
00000000000 fr0000D0O0O00OOCDOODfr000 cat0DOOODOOOOODOODODOO
000000000000 0000000000000000DUOO0O0Od (for.c)

[0 #include <stdio.h>
main(){
int i;
for (i=1;i<10;i++) printf("%d %d %d\n",i,i*i,i*i*i);
for (i=0;i<400;i++) printf("cat ");
}
ooooon
0000000000000 000000o00000o00o000OOO (tanukic)
00
(0.0)

Uuvu

00000O00O0oD0oo00ooooUooooood (kuku.e)

A:\> kuku[
%k The Multiplication Table %
i 2 3 4 5 6 7 8 9
2 4 6 8 10 12 14 16 18

gad ud
9 18 27 36 45 54 63 72 81
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5.5 MS-DOS (1)

O0000O000O0oOoooOoooooooMS-DOSOOOOOOOOOOOOOUOOOOOOOOO
oobbooobobobboboobooooooooooboobooooooobooboOooboobobooooonoo
OO0 MS-DOSOOOOOODOOOOOO0OOODOOOOOOMS-DOSODOOOOOOOODOODODOODOO

gboobooboooobobboboobobooooog
A> dir goboOoboooooooboooogan

A> type testl.c
A> copy testl.c abe
A> ren abc def

OO0OOtestl.cOODOOOOODOO
O0OOtestl.cO abcO0OO000ODO0OOOOODODODODODO
O000abecOdef00O0O0O0O0O0OO0OO

A> del def OO000def00DDODOO

googd

MS DOSOOOODODOOO0ODOOOOO0O0OOOO0O0ODOOOOODOOOO0ODOO0ODOOO0 dird
oooooooogooo

5.6 0000 (if)

goboooboobbooooboooooooooooooooooboooooooobobbOonoooa
Ub00O0db0OO0yesOOOnoOOOOOOOOOOOOOOODOOOODOOODOOODOODOOOOOOO

ooif (@O) O;

gbooobOoboooboobooboooogoon

O04if (O0O0)ODO; else O;

boooobooboboooobooooobooboobooooooboobooooobooboooooobooooo
oboo0o oboobooooooboooo

x<5 ooooooooooo x==5 [O0O00000000

x!=5 gboobooboooobooooo x<=5 [0OU0000000000004
(x==3) || (x==b) gboboobooboobgoon

(x>6) && (y<3) uboooboobooooobooobobogan

oboboodooooooooooooboooobooobooooobooobobooooboooooobooon
000000000000 x0y0z000O00O0O0000Ox==y==20000000 (x==y) && (y==2)
ooooooooooo

5.7 00000 (scanf)
00000 00000000DO0O00000OD0000D0O0scanf0000O0OODOODO

int i;
scanf ("%d",&i) ;

&LOOOOOOOO0OOOCODO0ODO&OO00i0000000O00000O00000000 OscanfdO
goboooobloooboooobooobobooooboooooooooobooOooobooooboOooon
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gogd

00000000000000000000 (hantel.c)

#include <stdio.h>
main() {
int h,w;
printf("Height (cm) = ");scanf("%d",&h);
printf("Weight (Kg) = ");scanf("%d",&w);
if ((h-100)*0.9>w) printf("You are smart!\n");
else printf("You are too heavy!'\n");
3
scanfO0 000000000000 0O0DO0O0O0O0O0O0O0O00D000scanfO00 printf000000O0OO0O

gbooooOobooobooooboooooon

goboogno

1. 000000000bbogoboOoi1o01oo00b0b0dOOIoveyou.OODODOOOODODODOO
000000000000 00000000 (2kou.c)

A>2kou [ A>2kou [ A>2kou [

Height=177 Height=150 Height=190

Income=1500 Income=2000 Income=600

I love you. Bye bye, you are too small. Bye bye, you must work hard.

2.000000000000000000000000000 000 (max3.c)

A>max3 [ A>max3 [ A>max3 [
A=5 A=7 A=7

B=6 B=3 B=12

Cc=7 C=4 C=8
Max=7 Max=7 Max=12

3. 0000000000000 000000000U000D0000000000UO (3kaku.c)

A>3kaku [
Size=8

X

XX

XXX

XXXX
XXXXX
XXXXXX
XXXXXXX
XXXXXXXX

5.8 MS-DOS (2)

MS-DOSOOODOOOODOO0OOOOOOOOOOO0O00OOoOOO0O00oooooogooooooo
ubooooobobooboobooobooboooooooboooooobobooooooooboooo

oooM

s-DOoSO000Q0OOO0O0000O0O0OOO0O0OOOOO0OOOOOoOoOoOODOOOOOOn

oooooobooooboooooon
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MS-DOSOOOO0OO0O0O0O0OO0O00000O0OOexeDcomObatD 00000000000 0O0O0O0OO
gbocobOobooooobooboobooboooobobooobooan
gbobooooobooooooooboboooobooooooooooooooboooooonooo
goboboobooooobobooooooobobooboboooobobobooo

O A>copy *.c b:

gboooboobcoOO0OobOoobOoobooboooobobooobooan

0 A>del testi.x

U00000D00000D¢testlO00O0OO0ODOOOOODOODOODO

googd

oboooobOobbooboobOrakObOOO0OOOoOO0oDOObOOOOODOObOODOODODO
bakOOOOOOOOOOODODOOOOOODOODDODOODOOODOOOODODODODOOOODDOOOD

5.9 0DU0O0UOobboOobOoOo

gogboooboboobobbooobbooobboobbobooooooooboboobboon
uboooboooobobooooooo

No No A
A
Yes Yes
B B C
B
D
C . . \
if (A) B; if (A) B; else C; ‘
C

for (A;B;C) D;

oobooboobooooboboobooboooobobooboobOoboooboobooboboOoooboOoono
obooooboooobOoboooobooboooooOoobOoOoooooooboooboobooooooooboon
ooood

gobogn

Ub00000Omax3.cO0000000O0O00O00O00OO0O0O0OO

13



5.10 000 (1)

gboobOobobooobooboboooobooobbOoooobobooooooboboOoooOoooo
obooooOoboooobOobooooobOoboooOoobooooooboooboooobooooooboooboon
goooooboooooboobooboooooboobooobobobbobbooobobooooboboboo
boooboobooobooooboooobobobouooobobooooooboooobOoboooobo
ubooobOobooobog

ooooOooooooOoOooOooOooDbDOoO0oDOOoOoOobOO0bDOooDOo0frdbbo0oboOoOooOOoOO
gooooobooooooooooboooboooobobobooobobooobbooooboobboboo
gooooo

#include <stdio.h>

main(){
int i,n,s;

printf ("N = ") ;scanf ("%d",&n);
s=0;

for (i=1;i<=n;i++) s=s+i;
printf("Sum = %d\n",s);

goboodgno

1. 0000 m)0000000000000000 n!=1%2%3%_*%(n-1)*n 00 0 O (kaijo.c)

A>kaijol
N=5
N!'=120

2.0000000000000000000000000 (kisuwa.c)

A>kisuwa [J
N=15
1+3+5+7+9+11+13+15=64

5.11 whileO

for000DO0OO00O0OCOCOOODOOOOOODOOOOODOODOODOOODOODOOOOO

U0 while (O) O0;00000000do O; while (O);

OO0O0OwhileDOOOODOOOOOODODOODOOOOOOODOOODOODOODDODOOOODOO
0000000000000 0000000000D0U0OUfer(;O;) 0;0000000000O0

O00whileDOOOOOOOOODOODODOOODOODOOODODOOODOOODOODDOOODO
oooooDbO0o0DbOOo00O000ooooODoDoODODO0OwhileDOOODOOOODODOOOOOOOOO
whileOODOOOOODDOOOOOODOODODOOOOwhileDDODOOODODOOOOODDOOOOODO
oooooog

14



gooooo

000000000000 0000000000o0oo0ooU00OOn (ged.c)

x,yOo oo

A>gcd O
A=12
y < y-X X « Xy B=15
) G.C.D.=3
—
xgoo

o

goo0oo0o0oooooooooooooooobO0ooooooooboooooOooooooooooo
goooooooooooooooooooooooooboooooooboooooooooboooooog
(test231.c)

A>test2310
50

16

38

Ea I T B B ]
[ T | 1 R 1

4
2
1

5.12 000 (2)

Ooooooboo0OoooooDoooOO0oO0ooboOoOobOOOODODOOoO0oOoDOObOOO0O00ODnao for
obooooooooooobooboooooobobooooboobobooooobooboooooooooo
goooooobooobooobobooooobooooooog

#include <stdio.h>

main(){
int i,m;

m=0;

do {
printf ("Data=") ;scanf ("%d",&i);
if (i>m) m=i;

} while (i>0);

printf("Max = %d\n",m);



gooooo

1. 00000000000000000000

2. 0000000000000000000000000000000O00000O0O0O0O0O00O0OOO
0000000 (heikin.c)

A>heikin [

Data=20

Data=30

Data=10

Data=40

Data=0 oo0ooOooooooaano
Mean=250 00 (20+30+10+40) /40

5.13 0000

0000000000000 o0o0o0o0o00o0oU0oOoo/*0 */0000000000 breakd
gooobooooon

5.14 break[

break 0000000000000 (for00whileDO)0O00O00O0O00O0ODO0O0ODOODOOOOODO
oboo0oobooboobOoboboboooooobDoboboboboooodpreakDOOOOOO
uboooboobooobooboooogoo

/* o0o0DOoOo0oDOoDOOdsx/

#include <stdio.h>

main(){
int i,s; /#0i000000000s0000000O0DO0DOO000O000 %/
printf("?=");scanf ("%d",&s);
for (i=2;i<s;i++) /* O000s-100000000000 %/
if ((s%hi)==0) { /000 s04i00000000010O */
printf("%d00000000O%A00000\n",s,i);
break; /* forOQOOOOO */
}
if (i==s) printf("%d00O00O0O00O\n",s); /* for0000000O00ODOOO iksOOODO=/
3
ooooon

10000 00000000000000C0O0O0OO(s1000.¢)

A>s1000 [
2 3 5 7 11 13 17
73 79 83 89 97 101 103
179 181 191 193 197 199 211

16



5.15 00O

0000000000000000000000000000000000000000000000
000000000000 Oint a[10); 0000 0al0], a[l], a2], ... a9 00 0000010000000
oooooo

0000000000000000000000000000000000000000000000
000D000scanf()000000000000000000000

#include <stdio.h>

main(){
int i,n,datal[100];

O */
O */

printf ("How many data? = ");scanf("%d",&n); /*
for (i=0;i<n;i++) { /*
printf("data=");scanf ("%d",&datalil);

gooobooooo
goboobooooo

3

for (i=n-1;i>=0;i--) /*+ 00000000000 *x/
printf (" %d",datalil);

printf("\n");

gobogn

0000 0000obo0O0ooo0o0ooOo0o0ob0OoooOoobbooooOo0ob0ooooobooooooooo
000000000 (reverse.c)
0 A>reversel

data=5

data=8

data=9

data=0
985

5.16 00U

000000000 0b0o0b0o0DoDDobob0DDItb00D00char OOOODOOOOOOO
gobobobooboobooooooooooboobooboobobbooboobDoobLooboo
0000000000000000000\0O0DO0000000000000woerdODOODOOOOODO
O0”bat’0 0000000000 Oword[0]0 0 b’ Oword[1]0 0 a’Oword[2]0 0 ¢’ Oword[3]00°\0'0 O
gooo

#include <stdio.h>

main(){
int i,1;
char word[30]; /¥ O003000000000000 */
printf("Word = ") ;scanf ("%s",word);

ooooo O/« D00D000000%0000000TC 01000000000 =/
for (1=0;word[1]!=>\07;1++) ; /* O001000000000000000 */
printf("Word Length=%d\n",1);
for (i=1-1;i>=0;i--) /* 0000000000 */

printf ("%c",linel[i]); /* 000000000%0000 */

printf ("\n");

17



gooooo

1. 00000000000 (aedon) 0000000000000 DOODOOODOOO (vowels.c)

0 A>vowels [
Word=computer
There are 3 vowels in ’computer’.

A>vowels [
word=big [J
There is a vowel in ’big’.

2. 000000000000000000O000O0UDOO0O0DO0D00OO0O0OO (shortest.c)

A>shortest

Word=book []

Word=are [J

Word=personal [J

Word=today [

Word=Z0 ~gboobogzoooboooooobooo
The shortest word length is 3.

5.17 OO4OOoOOoOO

00000000000000000000000000000000000s0t0000000 char
s[100],t[100;000000000000000

O gets(s); sddoo0Oo0oooooog

OO puts(s); sd00o0o0o0ooooooooo

00 strcat(s,t); sO00000000O0DOCO+t0O0000O0OOOODOOOOOOO

OO0 stremp(s,t); sO000000000D0t0000000O0O00OO0DOOOOOOODOOOO
0000 stremp("abe","def") - OD0O0OO0O stremp("abe","abe") - OO

0000 stremp("def","abc") - O0O0O

OO0 strepy(s,t); t0000D000000sOODOOO0DOODO

00 strlen(s); sd000O000ooOoOOo0ooooOoooo

00000000000000000000000s="abe”;00000000000 strepy(s,”abe”);
oooooo

O O O streat, strcmp, strepy, strlen 0000000000 O000O0O00O00CQO #include <string.h>0
oooodd

OO00O0000bO0oO0bDOoooooboOoboogboOwerd0 O O0OO0ODOOODOOOOODOOOODO
00002000000 word[0]0 0 word[29]0 0300 0000000000000O0O0O0OOO

#include <stdio.h>
#include <string.h>

main(){
int i;
char word[30][20],sentence[80];

printf("Sentence = ");gets(sentence);
printf("Sentence Length = %d\n",strlen(sentence));
strcat (sentence,"!!1");

puts(sentence) ;

i=-1;

18



i++;
printf ("Word = ");gets(word[i]);
} while (strcmp(word[i],"end")!=0);
for (i--;i>=0;i--) printf("%s ",word[i]);
printf("\n");
¥

gooooo

l. 00bOobooobooobOo0oooboboboobmooboobuoboboooobbobobooOoon
0000000000000 O (getword.c)

A>getword[]

Sentence = I have a book [
Word = I

Word = have

Word = a

Word = book

2. 00000000000000000000yes00000O000OODOOOO (search.c)

A>search [

Sentence = I have a book. [
String = ool

yes

5.18 switch(

Oo0ooOoo0o0ooOoOoO0obOOoooooOoOO0ooOOoOmoo0oooooooOoOoofobooooo
Oo0o0ooObOO00oboDOoOoooooOOswitchOOODOOOOOODODODO

switch (O) {

case [ 0000 ; break;
case 0 : 00O0O0O; break;
default : OOOOO;

}

gbbooogoooboboobobooooboobooooooobobobobOoobooboobobooboooboOoono
0000000 00000000000 00ono0y{}0000000000000000 breakO0OD0O
goboooobooobooooooooowoooboooooobooobooboooobobobbobooDboo
O00D0O0O0000DO0000oooDOdefaut D000 D0O0O0OO0O0O00O0ODOOOOO0O00O00
OO00000000D00000defanlt0 000000000

519 000000000 (1)

00000000000 000O0o0b0000oo0b0o0o0ooOooO0oO0bOob0 00000 oOo0oDoooOoooOon
0000000000 00000O00000000O0O000000000

000000000000 main()..00000000000000000 main()00000000O0OO
0000000000000 tekitou()DODDO0OO0O0O00O00OD main()000000O0OOO0ODOO
tekitou(){

tekitou() O OO
¥

19



main(){
main() 0 OO
3

main()0 0 00 tekiton()0 0000000000 tekiton();0000000000000000000
0000000000 0000000000000000000000000000000000000
00000000000000000000 tekitow()D0000000000000000000000
0000000000000000000000000000000

tekiton() 000000000000 000000000000000O000000000000O00
0000000000000000000000000

tekitou(){
int i;
i=100;
}

main(){
int i;
i=3;
tekitou();
printf("i=%d\n",1);
¥

O000000main()00000000I000000000 tekitou()OOOO0OD0I0 100000000
O0main()0000000000O00000OO0OO=3000000000000000000000OO
obooooobobooooobobooooboobobooooboboboobooboboooooooooo
goooooooooobooboobooooboboooobobbooooobobobooooboobooboo
booboboobobootboooobooboooobooboooobooboooogoo

int i; / 000000000000 D0O0DoDo0O =/
tekitou(){

i=100; /x 00 i00000000000DO0O0OO000O000 %/
¥
main() {

i=3;

tekitou();

printf ("i=%d\n",i);
¥

O00000i=10000000000000000000mti;000000000000000A0 int
pydoooooooooooboOooo0oooobooooooooooboo
gboooboboooobooboobobooooooooooooogooo

tekitou(int height){
if (height>170) printf("You are tall!'\n");
}

main(){
tekitou(155);
tekitou(165);
tekitou(175);
tekitou(185);
¥
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0000000000000 000 (()0D00mt0000000000000000000tekitou()O 0
gobooooobooobooooboooooOoooooobooooooooooobooboboOoonboan
OO00000oooooooDooDOOoOC0oO0o0OooDOOOoDODODO0O0O00O0OO01550height 0000
OO000000O1650 heightOOODODOODOO0OO0O0O0OOO YouaretallDOOODOOOOOODODOO

gobogn

gboooogooobobooogoooboooboooooooooobOoooooooDoooooooboobo
uobooboooooooooboooooobobooooboboobboooobooooooboooobooooon
uboboobobooboobomogoboosobboboooooog

#include <stdio.h>

main(){
int i,j,k,ban[10];

printf("\n *** Tick-Tack-Toe Game ***\n");

printf (" ver.1l Man - Man\n\n");
for (i=1;i<=9;i++) ban[il=0; /+ ban[il]O0 0000010000 */
j=1; /* j0 0000000000000 0O0O0O =/
for (i=0;i<9;i++) {

do {

printf("==> ");scanf("%d",&k);
} while ((k<1) || (k>9) || (ban[k]!=0));
ban[k]=j;
i="3s
printf("\n | \n");
switch(ban[1]) {
case -1 : printf(" X[|"; b
case 0 : printf(" 1 |"); break;
case 1 : printf(" 0 1";

¥

switch(ban[2]) {
case -1 : printf(" X |"); break;
case O : printf(" 2 |"); break;
case 1 : printf(" 0 [");

}

switch(ban[3]) {
case -1 : printf(" X\n"); break;
case O : printf(" 3\n"); break;
case 1 : printf(" 0\n");

}

printf (" | \n");
printf(" -——+-———+4-—--\n") ;
printf (" | I\n");

switch(ban[4]) {

case -1 : printf(" X |"); break;
case O : printf(" 4 |"); break;
case 1 : printf(" 0 1";
}
/¥ 0000 */
printf (" I I\n\n");

}

0000000000000000000000000000000000 intialize()Dinput() Ddisplay()
00000D0000000000main() 00000000000000
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main(){

int 1i,j;
initialize(); /* O00000000Oban[ JOOOO %/
J=1;
for (i=0;i<9;i++) {
input (§) ; /+ 00000000000 «/
3="3;
display(); /¥ ban[ 1000  =*/

boodouobooboooboooboobobooooboooboooooobooboboooooobooooo
0000000000000 0o0o0o0oU0o0oUOo (oxle)

A>ox10

*x* Tick-Tack-Toe Game ***
ver.1l Man - Man

==> 5[|

.
I 2|
I |
+-——+
I |
41 X186
I I
+———+
I |
I |
I |

gooono

520 00O0O0OO0OO0OODOO0O(2)

gbooooooboboooooboooooboooobooooboobooboooobooooobobobo
boooobooboboooooooboobbooooooooobooooboooboooboobobOoooboooo
Oooooooooobo0o0oO00OvedOODO0OoOomOOOoOoOoooooooODbOODObO0OO0O0ooooo
oboooooooooooooO

000000000000 return(...;0 0000000 ()0000000C00O0ODOODOODOOOOOO
U0O00Oreturn0000000O0DO0O0DOOO0OOODOOOOOOOOOOOOOOOOODOODOO
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int abs(int i){ /¥ abs(OOO0O0O0O00O0O0OO */
if (i>=0) return (i); /* idoooooooooo */
else return (-i); /* i000000000o00o0n0 =/
¥
main(){
printf("abs(3)=Yd\n",abs(3));
printf("abs(-3)=%d\n",abs(-3));
¥

0000000000000 00000000O00000000000000000000000 nl=n*n-
1)*(n-2)*(n-3)*...3*2¥10 000000000 for 000000000000 OOOOODOOOODOODO
oooooood
int fact(int n) {

if (n>1) return (n*xfact(n-1));

else return (1);

}

main(){
printf("6!'=Yd\n",fact(6));
}

gbobooboooboobooboooooboboboooboobooonbo

5.21 00000000

obOoobooobooboobooboobboooooooobobooboobooobooboobooooooonn
include 00 000000000DOOCOO0ODOOOOOOODOOOODODOOOODOODODODOO
U0oob0obodb0fOoexl.cOO0DODOOODOODODOOODODOOOOODODOD

#tinclude "ox1.c"

ooooobooooooooododbDoexl.cOOOODOOOODOOOOOODOOODOOOODOOODOO
OO #include <stdio. k>0 0000000000 0OODO0ODOOOODOODODOOOOODOOOOOO
ooooooboooooooooooooobooooooo”»’obobo0ooooooooooooobDO
O000D0O000O0O0<x>0000000000C00D0O0O0DDO0O0OOstdio.hDOD0O0OO 177000
ooood

goboogn

1. 0000000000000 00000000b00b0oxl.cO00b0ODOO0ODOODOOODOODOODOO
O#include <stdio.h>00000000Dmain()0000000000O0O0OOOOO0OO

2.000000000000000DO00O0DO0Cx2.cO000DO00O0O0O0ODOOOOODOODOOODOODO
goooooooobooboogoogon

#include <stdio.h>
gooooono

#include "oxl1.c"
O00Omain() O OO
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3. DDDDDDDDDDDDDDDinitiali%e()DDDDDDDDDDDDDDDDDDDDDOwari()
J000o0oooooOooooooDXoooooooooooooooooooooooooo
JddddDmO0oooooodooDoOo0d0oooDooooXodoooooooooooooa
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDmain()
gooooobooobooboobobbobbbobbdddoddddbUooooo oL oboooooo
O00000O0o0x2.c00owari() 00000 main()OODOO0OODOOO

.22 00U

000000000000 oooDooooooooOoo0bOoooDobOoooooooooooona j=t1
0d0ooooooooboooooboooooooobooodj=k=10000000 k00000000
0000000 ;0000000000000

for00000D0D0DODi++0000000++00000000000D00O0OO0IO0O00OOOOO
JddooOO0oo0o0ooooOo00ddooooOod0iooodoooooDoo0oooooooOooinooa
DDDDDDOwari()zzl[]DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00i#0000000000000000 if (owari()==1) .0 if (owari()) ..0000000000

000000000000 if (ban(l]=1) .. 00000000 0ban[l]=10 ban[l]0 00000000
00000000.. 0000000000000000000000ban[1)0000000O00DOOOO
gdobooooudbuoodoboboooboboobobuooooboboooOoo

5.23 00

boobOobobooboobobooooboobooboooooobOoooooobOoOooboooooa
oboobOoooooobooboobooooboobooooobobobooooooooobobooboooban
gboooooboooboobooooooooooooooboboooo

00000rand()000000000000000rand()0000000O0DO0O 327670000000
goboooooobboooobooobooobboobooooboooooooboobooboooooon
obooobOobOobobooboooooboo2b00b0b0ob0boo0oOon

#include <stdio.h>
#include <stdlib.h> /0 randO 0000000000 */

main(){
int 1i;

for (i=0;i<20;i++)
printf("%d ",(rand()%6)+1); /* a % b 0aldb0000000000OO=/
printf("\n");
¥

O0000rand()000000000O00O00O0OO0DO0OOOODOOOOO0OOOOOOOOOODOO
0000000000000 0000000O0000000O00000000rand()D0OOOODOOOO
0000000000000 000000000bO000O00DOO0ODOO0o0DOO0OoDODOoOoDOoOoOoooOooOoOoa
000000000000 200000000000000DO000000DOO0O0DOOO0DOOODOODOOn
A>ranl]

3542261411261 1664441

A>ran (]
3542261411261 1664441
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DDDDDDDDDDDDDDDDDDDDDDDDDDrand()DDDDDDDDDDDDDDDD
srand()DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
#include <stdio.h>

#include <stdlib.h>
#include <time.h> /¥ clock(OODOOOOOODOOOO =/

main(){
int 1i;

srand(clock()); /+ O000O00O00srandO)OO0O0O0O %/
for (i=0;i<20;i++) printf("%d ", (rand()%6)+1);
printf("\n");

3

A>ran(
522636222322644451146¢6
A>ran (]
4564253335662 143326€6
A>ran(
435653611263244322514

gooooo

1. 00000000 ox2.c0ox3.cO00000O00MMMS-DOSOOOOOOOOOOOOOOOOO
O0ox2c0000000O00O00O0O0COOOOODOODOx3.cO000O0OODOOODOOOOOOO
gooboooooboboboooboooooooon

2.0000000000000000000000000 wmern()0DO0000000O0 rand()000O
0o0oooooooobobobbobobbbbobobobbobobOD oo oDooDoob0ooOogag
O initialize() 0 O O srand(clock()); D0 000000000000 main()0 0000000000
O0input(j;0 000000000 wmern()0 000000000

3. 0000000000000000000000000 tomeru()DOO0OD0O0tomeru()0O00O0O
0000000000000 0D00000000U0O0U0O0U00DOmain()0000ODOODO0OO
tomeru() 00000000000 00000wmern()00000000000O0

4. umeru()0 tomeru() 00000 ox3.cO0000ox3.c00000000O0DOOOO

O0000O00o0o0O000OD0000veiddOintD 00000000 00DOO000DO0OO0DO0O0O0DODO
if00 0000000000 j=100000000O00000000000DOOOO0O0O00O0OOODODAO
oooooOooooooboooooooa

5.24 0O0OO0OO0O0OODO

gboboboooboooooboooobooobobooooooobooboboobOooooooboOon
ooboooboobobooboboobooboobooboooooooooobboobobobdllIeccox30bO0OO
ooo

cpp -DLSI_C -IE:\LSIC\INCLUDE -j -o E:1.$3%$$ ox3.c

oooboboooobobooeppO0O0bOO0OO0ODOODOODOOODOOODOOOOOOODODOO
00 0000000000000 00x3.c00000E:1.$$$0000000000000000O0OODO
ooo
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0000000000000 00000000#inclvde0000000000000O00O0OO0O0ODO
bobooooobobooooboooboooooooboooooooobooboboOoobbOobooooo
oooooobooobooooooooooooooboooooboooboboooooOoboobooo
ooood

uooobooboooooooo

#define MACRO_NAME MACRO_BODY

OoO0oDOOooDoO0o0OooOOooDOoobOOoboDO0 MACRONNAMEOOODOOOOO MACRO_BODY
goooooboooboooo

oo

#define WEIGHT_LIMIT 100

oo

if (w>WEIGHT_LIMIT) printf("OOO0OO00O0 \n™;
gad

odowbOOO0O1woobOobOoOooboobobooboobooooboooboobobOoboboboooooo
OO00O0O0000000O00000D000DCO00DDODODO#define0 0000000 ODODOOODOO
gooooobooboooobooooboooooobooooooboooooboooooooboOogoo

000000a(1,2,3) 0000 ban[l]4+ban2]+ban3| 0000000000000 O0OOOOOODOO
uboooobooboobooooon

#define a(x,y,z) ban[x]+ban[y]+ban[z]

booboobooooobobooboobooooboboobooobooooboobOoboOoOoobooOoona
boooobooooboboooboobooobooboooooobooooooboOooonoo

gobobodgd

1. 00000000 o0x3.cO0ox4.c000000000O0O0O0O0O0DOO0O0DOOOO0OOox4.cO00OO0DO0O
O000ox4.cO0000oxl.cOox2.cO0000000O0ODOO0ODOODODOOO

2. 000000000000000000O0D0OOUD0OO00OO(y/n)0000O0OO0O0OO0OOO
UbOyobhooOoooOooboooooooboobooooboboboooooooobooboooo
ooo

3. O0uwmern()0J00000000D00ODOO0O0OOOOOOOODO0ODOOOOOOOOOOOOOO
gboboooobooobooooooobooooboobooooooobobbooobooboOooobooo
gooooo

4. #define0 00000 DOOOOOOOOODODOOOODOOOOODODOOODODODOO

5.2 0OOUOOOOOO

gobooooboobooooboooooobooooobooboOoobooooooobDbbOoobbOooo
goooboobobbooboboboooboobooooobobooooooboboooooooooo
bobooboobooboobOoooboobooobooooobooobooooboboooooooboOooboDo
ooooooooooooooooooOoooDooo LS cogoooooooboooooooDboDooo
gooooboooboooboooboooooboboooboboooobobbooDoboOoooo
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gooooooboooooooobobooooboooobooboboooooobooboooooooo
gbobooobobobooooboobooooboooooboooobooobooboobobooooooboooooooon

OOoOooOooOoOoOODODOOOO0000000000000000000 000 printf0 scanfd0 00
gobooooboboooobooooooooobobbobobobboobOoobooboOoboobooDo
goooboboooboobobooobobon

00000000 LSI-CcCO000OO 00000000 g6 0000000 8600000000 Id
obooooooboooobooobodeppb000O0OOObOOOOoOOOoOoOOObOObOOOOO
Oo00D0lecOODODDOO

boobobooooboboooboboooooboboobobobooooboOobOoboOoOooboDo OO
uboobOobooooobobooooobobooooboboobooooobooboooooobooooo
oooobOobOoooobobooobooboooobooboooboOoboooooboOoboooooobooooa
ooooooooo

5.26 D0OUOOOOOOO

scanf() 000 0000000000000 0000000000000D00000000000000
000D000000000000000000000000000000000000O00000000
00000D0000000000000000000000

#include <conio.h>0 0 kbhit()OD DO D0 getch()00 000000000000 0kbhit()O00
00000D000000000000000000000000000000000000000000
00000 getch()000D000 0000000000000 0000O0000D00MO0O000000
000000000000000000000

gobogn

00000000000 Hitany key”’00000DOD0DOOODOOODOOOOODOOODODOOODOO
000000 rand()000000O0O0OO (dice.c)

1. 000000000000 disp)0D00M disp(1)D000D0O0O0OOOOO

2. 000000 -0-00 -0 -0000000000000000000000000000000
O0disp()000000000

0000000000000 0000U0000000o000D0O00OOOdisp)00000ODDOOOOD
O000Ovid0000O0Odisp()D0000000O00O00OOO0O0O0O0O0O0O0ODO0OO0ODOODOODOO
o0o0o0ooo0oooooo0ooooo0o()0D0ooU0oo0ooU0obOO00o0oUOooooUooOoo
disp()D00000DO0DO0OWOODOOiIOD00O00O0O0O0UOO0ODOOOO
o0o00000o0o0OO0bOoO0oOOdobOOobOooO0booOO0o00ooOooooOobDoboOoOodWobobOooo
O0switchOOOOOOOOOOOOdisp)DO0000D0O0OO00ODOOOODO
kbhit() O getch() 0 0 000 U #include <conio.h>0 000000

5.27 Q0OOOOO

uboboobobooobooboboooboooooboobooooooooo

1. 000000000000 ooouo0(y/n) 0000000000000 0y0DODO0OOO0O0OOO
gbobooboooooooooooboobobooooboobobooboobooobooooboooo
oboooooooooboboobOoooooobOoobobOooooooboooobooooon
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main(){
int 1i,j;
char a;
M O O 0m
if (a=’y’) j=1;
if (a=’n’) j=-1;
Im O O 0

2. 0000000000 wmeru()00000000000OO0OO0OODOO0OOODO0O0OOOOOOO
goobooooooooboooooobboboobobooboobboobogo

void umeru(){

int i;

if (ban[5]==0) ban[5]=-1; break;
0m O 0 0m

. 00b00ooooboboooooboooboobooooobooooooonog

main(){
int 1i,j,word;
initialize();
display();
printf("O00 0000 (y/n)") ;scanf ("%c" ,word) ;
if (word="y") j=1;

else j=-1;
I 0 O

5.28 0OUOOOOOO

obOoooobobooooobobooobooooboboobboobOobooooooOoooboooOoonoo
goooooboooboobooooooboboboooboooooobooOoobobbooOoDboOoDo

gooooopooopoooLsIcooopooUpooopoopopooUoooooobooOodoooOooo
OO0000 screen.c000D000000O0OOscreen.objd 000000000000 OC0OOODODOO

A>1cc -c screenl]
obooo0O0oob0oooooObOooboobOooboboobObOscreen0000000O0O0O0O0OOOODOOO
O0bo000ob0oo0oooooboooooboboboboDbOOn dice2.objd screen.obj0 0 00O0O0OONO

A>1cc dice2.obj screen.obj

uboobOooboooobooboboooobobooooboboooooobOooboooooobooooao
OO0o0000DOOoO00mooOoOgdice2000000000DO0OODODOOOOOOOMO

5.29 MS-DOSOODOOOODOOOODO

O000oO00oooooooooooOoOoooOoooooooooMs-bosOoooooooood
oboooooboboooboobooooboooboooobobooooooboboooooobooooo
goboboooooobooooboboooboboboooobobobooooobobooboooobooogoo
0000000000000 00000000N\33000000000033 0000000000000
ooooooo2y00oocooooo0oooO0ooobooooooooooooooOoooooooDDbOoon
ooood
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#include <stdio.h>

#define black 30 /* color(black); 000000000O0O0ODOOO */

#define red 31 /* color(red); 0 0O0O0O0OO0OO0OOOCOOOO */

#define green 32 /* color(green); 000000O00OODOCOOODO */

#define yellow 33 /* color(yellow); UDDOODODODOOODOOOO =/

#define blue 34 /* color(blue);0 OOOOOOOOOOOOO */

#define purple 35 /* color(purple); DOODOOOOODOODOOODO */

#define cyan 36 /* color(cyan); 0 ODOODOOOOCODOOOOOO =/

#define white 37 /* color(white); 000000000O0ODOOO */

#define ON 0 /* cursol(ON); O00OO0OOOOOOOCOOOOO =/

#define OFF 1 /* cursol(0FF); OO0 0O0O0O00O0O0OOOOOOOOO=*/

void locate(int x, int Y{OO/* x DOOO0O0O0O0Oy ODOODOODOOO =/
printf ("\033[%d;%dH",y,x); /* 000000000000 O0OOOO */

3

void color(int n){ /¥ 00000000000 */
printf ("\033[%dm",n);

¥

void cls(O){ / 00000000D0O000O0DO0O0O0a =/
printf("\033[2J\033[0n") ;

t

void cursol(int f){ /¥ 0000000000000O000O000 %=/
printf ("\033[%dv",f);

3

ooooon

1. 00000000 screenc0 0000000000000 00main()00000000O0O0O0OODO
goooooooooboooooooboboboobooboooobooooooboooDooboDooDboo
gooobobbooboobooooooooobooooooooa

2.0000000000000O0O0DOO0OOOOOO0OODOOOOOOOODOOObOOObOOOOOn
gbooobooooooboobooooboobooboboOooooooboobbooboboOooboobooboon
gooooboooooboooooooooooooobogobooboooboooboobobooDbobooo
0000000000000 o0oo0ooo0oUoon (dice2.c)

(a) 000D O0O00 screen.h 000 main().. 000000000000 dice2.c0000000 #include
gon

(b DODO0D0OOdisp()00O0D00OOdIsp(1,3,10) 0000000000000 100000000
ooooooo

() 00000D00UODO0OO0O0ODO0OO0OO0OOOdisp()DO0OO0O0OOUOUODUODOOOOO
ooooooboooooboooogn

ubboooobooodoooooooboooooooooooobooooboooobobooooooooooo
O locateD 180000000 O0OM
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5.30 0000000 (2)

000000000000 0000O000000O0O0O0000000b00000O0b00bO0OoO0O0o000O
0000000000000 0000000000000000O000A0 screen.cO0O0O0 dice2.cOOO0
O000000M@MOO0 dice2.cO00O000 O #include "screen.c"OOOOOMMOOOO

A>lcc -c¢ screenl]

OO000screenobj0 000000000 dice2,0bj0000D0D0O0000DOOOOO0ODODODODODOOO
O locate()0 color()UODOODO0ODOD0OO0UOOUOOOblackO ONOOO define0000000O0O0O0ODO
oooooooOOoO0ooooOoOoooOoooooboOooboooOooooo

O000O0DO0O000O0DO screen.cd screen.h [ screen.cO 0000000000 #define0 00000
O0O00o0OoOO0O0O0000DOO0O00DO0O0O0000ODO0DO0O0000D#include0 00000000
oooooooooooogooo
void locate(int x, int y);
void color(int n);

void cls();
void cursol(int f);

0000000000000 0000000000000 screen.h 0 dice2.c 000 #included O O dice2.0bj
Oo0o0o0oooooooooooon

gooooo

1. 00000000 screen.cd dice2.cO0000 Oscreen. h OO OOOO0O0O0OOO0OOOO0OO

2.|:||:||:|diceQ.CDmain()DDDDDDDgame()DDDDDDDDDDDDDDDDDDDDDDD
goodoooooooooooooobooooooob woooooooooboooobooooon
000000 (diced.c)

0000000000 main()0000 onegame()0 000000000 0game()0 0000000
000D0000000000000000000000000000

A>lcc -c screenl] /¥ screen.cO0000000O00O0O00O %/

A>lcc -c dice3O /¥0 dice3.cO0000O0O0000O0O0O=*/

A>lcc dice3.obj screen.objOd /00000000C000D0000 */
0000000000000 0000i=sj==k0000000000000000DO000O0O00OOOO0

000000000000o00oo0o00ooo0oUoo00ooO(==)) & (j==k)00000O0
oobOoboooobooobob00return0000000O0O0O0O0O0DOO0O0DOOOOODOOOODOO
obOooobOoboobOobOooooooboooobooooobOOoboooooOon

5.31 0000000 (3)

gboobooboooobobobbooboooooobobooooboobooooobOooboOoooboOono

obboooboboooooboooobooboobooooooboooooooooboooooobooooboo
ooboobooboobDbDinclude00O0D0DOODOO0OOOODOOODOOOOODDOOOOODDODOOODOO
OmakeJ 000 DO0D0O0O0O00O0O00D0DO makefile0 D 000000000000 ODDODOOOO
boooobooboooooboooooobobooobobooooboOoboooooboOoboooooboooboon
oood
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O00000D00O0O0DO0Oscreen.h, screen.c, dice3.c0000000D00O0ODOOODOQO screen.obj,
dice3.0bj0 0000000000 O0D00O dice3.exeOOODOOO000O00O00O00OOO makefileOOO
ooo

dice3.exe : dice3.obj screen.obj

lcc dice3.obj screen.obj # 00000O000ODO TABOOOODOOOO
dice3.0obj : dice3.c screen.h

lcc -c dice3 # 000000 O00bOTABOOOOOOOO
screen.obj : screen.c screen.h
lcc -c screen # 000000 oobTTABOOOOOODOO

O0O00000O0 diced.exed O OO O dice3.objd screen.obj0 0 00000000 ODO0O dice3.exel
000000000000 0D0000 makeO OO OO0O0OOdice3exed 00D O0O0O0ODODOOODOOO
dice3.objO screen.obj0 000000000 0OODOOdicedexeD 0O 0 O00OOOOOODOOODODODOO
0000000000000 00000000000000000D000D0000 diced.objO0O0ODOOO
O0000000dice3.cOscreen.hJ 0000000000 0OO0O0O0ODOOCOO0OODODOOOOOO
O000000make 0000000000 0000000 makefileD00000000000 makeO OO
OO0000Mmeke0O0O0O0ODODOOOOOOOOO

5.32 000000000 (1)

goboboobooboobooobooobobooboooboooobooooooboboboooboOobOooboonn
boooboobooboboobooboboOoooooooooOooooooboboobOoboOooonn

000000000000 00000000U fopen()UODOODOOOOOOOODOOOODOOODO
gobooooooooooooooobooboooooobobooboboooooLoboboooboboDbobooo
vbboobbomoooooooobooboooooooooooobobobooobooobooooboon
gooobooooboobooobooboobooobooobOooooooOoobobooooOoooboooooon
ooboooobooobooboooooboooboOobOobooooooooobOmoooooooboooon
O00000000000000000000000000000 fscanf()0 000000000 scanf()0
booobooboboooooboooobooboooooooobooooboobooobooboooan
000000000 Oflese()U 0000000 D0DO0O0O0OOOdatal 0000000 OODOODOODO
oboooooooooon

#include <stdio.h>

main(){
FILE *fp; /* 0000000000 0000D0D0O000000O0ooOo0OO0gd */
int i;
fp=fopen("data","r"); /* 00000 (data)OJOODODO (x) */
fscanf (fp,"%d",&i); /* 000 fp00000000 scanfOODOO =/
printf("Read Data is %d.\n",i);
fclose(fp); /* O0000000000000000000 =/
¥

000000000000 0000000Ofepen()D00000O00O0O0OO0O0OOO Ofprintf()00
000000000000 fdese()D 0000000000000 00O0O0O0O0O0O0Ddatad0OOO0O
ooooboobobboobooo

#include <stdio.h>

main(){
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FILE *fp;

int i;
fp=fopen("data","w"); /* 00000 (data)JODOODO (w) */
printf ("Number = ");scanf("%d",&i);
fprintf (fp,"%d\n",1i); /* 000 fHpO00O0000O0O0printfOQOO0O =/
fclose(fp);

}

gooood

1. diced.exeD O OO makefile 00 000000000000 OCOOOOCOOOODO

2. 000 dice3.c0 main() 0000000000000 0O0 diced.c0000 main()0000000O0OO
goooobooooooooomooooboooobooobooobooobomoboboooboobooo
o000o0O000000000000000000D000000 @M makefileDO0D0OOODODOM

obooooobobooboobOobooooobobooobOobooobooobooboooobooooooooboon
gooooooboboooboobooobboobooooobooboobooobDoboboobooboboo
0000000 game() 00000000000 0ODOO0OOOOOOOOOOO

fooif(00)000; 0000000000000 0D000LOU0OO0OD0O0OO0O0DO0O0ODOOOO
if(00);000;00000000000D0;000000000DO0OOO0OLOODOOODODOD
ooobooobooboooo

000000000 o00oo00oo0oU0o00o00oo0oUooo00o0dOscanf(>0O000O
00000000000 getch()DOODUOOODOODO0ODOOUOODODOOOOOOOOOODOODOOOO
oboboooboobooboboboobooooooooooooooooobobyoooboOoOoOoOooOoooooo
oooooboooobobooooooboooooboooobobogo

main() 000 return 00000000 0main()000return0000000000000000OOO
ooooooboobon

while (00 ) 0000000000000 0DOO0OO0OOO0DOOUOODOOOOOODOOOOOOOOO
ooogo

5.33 000000000 (2)

ogoodobooooooodo oo oo oo oooooon
doooodooboooooooooboobdio oo oo oo oooDLOoooOoooooboaa
0000000000 fscanf()000000000ODOOO-10000000O0O00DOOOODODOOOOOO
Oo000oo0oooooooo
#include <stdio.h>
main() {

FILE *fp;

char 1ine[80];

fp=fopen("test.c","r");

while (fscanf(fp,"%s",line)!=-1) puts(line);
fclose(fp);
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0000000000000 0o0o0oooo0noO0O0fopen()D0D”wO0OO0OD0Y200000
oooooOoooooooOo0oOobooooOobOOo0ooOOooooOooobobooooOoDOoOoOooDoOO"w'DOO
obooooOobOoooboobooboooooooooobOobooonn

goboogno

1. dieemax0 0000000000000 000000000000000000000DOO Oread_score()
0000000000000 000000000000000000000000 writescore()0J 0
gobooboooboooooooobooboobooooooooooboooboooboboboooono
0000000000 dice4d.c00000main()0000000000O00O0O0OO0ODOODOOO

2. 0000000000000000000000000000OO0OLOO0O000000OO0O0DOOO0O0
O00000000000o0dO0O00Oreadscore()00 00000000 DO0OOOODOODOOODOODO
0000000000000 0000000o00oUO00oU00D0O0O00dwritescore()0OO0O
000000000000 000000000000 Owritesscore()0000000DOOODODOODO
Omain() 000000

5.34 0O0O0O0O0DOODOO0O

Ms-DOSOOOOOUOOOOOOOOOOOOUOOOoOoOoOooooooOo0ooooOoDoOoOoooooo
ooooobooboooboboooboooooooooooooobooooooon

A>dir(

ooooobobooobooboboooboobobooooboboooooobooboooooobooooo
OO0OO0DATAOOOODOOOOODOOODOOOOODOODOOOOO

A>dir >DATA[

ubooobooboobood

A>type DATAO

gboboooboobobooooob>spgboobbobobbbobooooboboboooooboon
bobodbookboboboobooooboboobooobooooooboobOoboonn

A>sort <DATAO

sortU0 00 00000gooobooboboboobbbooobobobobobooobobobbo
gboboobOooooboooooboboooooboooobobooooobooboobooboon

A>dir | sort0O

U0o0oo0o0oogobdir0D0O00Osert00000O0O00DOOO0O0O0OOODODOODOOOOODOOOOO
gobooobooooobog

googd

obooobOoooobooboboobobooooonog
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5.35, DOOOOOOOO(3)

O000oo0o0oooooooooooooooooooooooooooboooboooooooonoa
O00o0o0oo0oobooo0ooooooooooooooboooobooooobooooOoooooooon
0000000000 b00ooOo0o0o0o0oo0ob0o0o0ob00ooOo0ooo00oooobo0oOob0oOo0ob0oboOoOooOooOoOoon
0000000000oo00fopen()0fcose() 00000000 D0O0OOO0OOOOOODOOODODO
Ofdoboooooooooobooboooooooonboo
#include <stdio.h>
main(){

char 1ine[300];

int i;

for (i=0;(i<5) && (gets(line)!=NULL);i++) puts(line);
¥

gets)UOOO0ODO0OOO0OD0ODOOOOOUONULLOODOO0OOOOOO0OO0OO0OODOOOO0OOD
foo00000D0OOCOO0OO0O0ODOOOOOOOOODODODOOOOODODOOOOODOODOODO
ooboooobooooooooobooobooooboooooboooobooobooooooooobooboOonoo
ooboooobO0oo0oobo0oboobbO0obO0obbOobO0b00bD0ODb0O0n headeexeOODOODOO

A>head <dice3.c[

D000 diced.cO00O0D0O0ODOOOODOOOODOO

goboogno

1.00000000000000.BAKOOOOOOOO0OOOO0O0OO0OO0OO0O0O0O0O0O0000.0BJO
g0ooooooooooOooOooOoQoOoOOoOoOBAKOOOOODOOOOOOOOOOO

A>del *.bak[
A>del *.0bj [

2.00000000000000000000 (we.c)

A>wc <head.cO
There are 9 lines.

3.000000000000000000000000O (tail.c)

A>tail <head.cO

char 1ine[300];

int i;

for (i=0;(i<b) && (gets(line)!=NULL);i++) puts(line);
¥

OO0000000000Ofor00 whileODO dowhileDDDOOODOOfor000000O0O0O0ODODOOO
OO0o0o0oooooooooOooOoooooDoOOwhiledOODOOOOOOOOOOODDDDOODODOO
O000dowhileDOOOODOODOODODO
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5.36 00000 (1)

gboobobobOooooobbooboboboobobooooooboobOoooobobbOobooogoo
oboooooooooooooooooooooo

gbooobobooboobooooobobooooboooobDoboooobobobooboOoDboDbO
oooooooooobooooooooobooOobo0oooobobDo0oDO00OD0 MMt ;0000000000
ooooooooooooOooioooooo0ooooooooobooooooooboOooooooDoono
ooooooboboooooboboobbooboooooooobooboobooooooboobooooboo
gobooooobooboooobooooooobooobbi=1000000b0bO0obOoO0i0bOoboooboo
gooobooloboooooooooboboooo
scanf()00000000&UODO0O0O0OO0OO0OOOODOOOOO0OOOOOOOOOOODOOOO
oooooooboooboooooboooooboobooooobOoboboooooobboooooobooooo
oopooooooOoOoo0ooooOoOoOoboO0OoDOodoDOo0OooOoOO0OoOooUUoOooDDOobD&nOO
00000U0o*00o0o0000o000000000o00o0ooOooo0Uoo0oUooDoUooooUo
oooog

00000000000t *p;000000000000000O00O0O0O00O00O0O0O0O0OO pOODO
oooooboooooobooobogo

int 1i,%*p;
p=&i; /* 0000000000 i000O0ODOOOOO =/
i=10; *p=10; /* O000000000000000 */

5.37 00000 (2)

0000000000000 000000000000o000U000oU00o0000O0n scanf()O
0000000000000 o0oU0oU00oU0D00o00o00o0o0oUOU000OO Ostrepy()OODO
oooooooooo
void strcpy(char #p, char *q) {

while ((kp++=*q++)!1=2\0");
¥

000 strepy(strl,str2); D0 0000000000000 pOstrl0]00000000Oq0O str2[0]00
O00O0OwhileDOOOOOOOO*p0strl[0]D00000%q0 str2[0]0 000000 strl[0]0 O str2[0)
O00000000p0qUOO0O0O++000000000000000str1[1]0str2(1]0000000O
000000000000 000O0\CO0000000000000000000000D0O0oOo0O0oOo
00000000000 bobooooooooo

OO0O0strstr()00000000000D000O0O0O0OOOO0DOO0O0O0ODOO0OOO0OOOOOOOODOO
000000000000 00Ostrstr(”abedefg”,”cde”)0 0 00 ”cde”d "abedefg”0 00000000
O000000O7abedefe”0 00000000000 0OODOODOOODOOODOOOOONULLOOODOOO

gobogn

000000000000000000000000000000000000 Ostringh000000
000000000000 (we2.c)

A>wc2 <head.cO
There are 107 charcters in 9 lines.
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000000000o00oo0ooooooooo0strlen()0 000000000 O0O0OOOOOOOCODO
00000000000 strlen()00000000000000D00000main()000O00O00OO0ODO
ooooooobooon

5.38 00000 (3)

000000000000 return()00000000000000O00OOOOODOOOOOOOOO
0000000000000 00000000000000shiscku()0000000O00O0O0OOO

#include <stdio.h>

void shisoku(int x, int y, int *add, int *sub, int *mul, int *div) {
*add=x+y; *sub=x-y; *mul=x*y; *div=x/y;

¥
main() {

int i,j,k,1,m,n;

printf ("X = ") ;scanf ("%d",&i);

printf("Y = ") ;scanf ("%d",&j);

shisoku(i,j,&k,&1,&m,&n);

printf ("X+Y = %d, X-Y = %d, X*Y = %d, X/Y = %d\n",k,l,m,n);
t

shisoku() 0D OOOOOOO0OOO0O0OODO0OD0O00000000Omain() 000000000 x0O0y0ODO
0000000000000 00o0o00o00oUo0D0o00o0oU0000DOmain()0000O
booobOobooboooboooooobooooooboobooboOoboooooboOoboOoooooboooon
oboooOobooboobooboooboobooooooboooooooooooooobooooooboooboon
goooobobooboobooooooboooobooooobooboooooo

booobooboooboboboobooboooobooboobOoooobobooooboOobOoboOoOoboOoDo
gbooobooboobOobooooboobooooo

goboogno

19940 0000000000000000000000O0 calmonth()DDODODOOOOODODOOOOOO
0000000000000 0INoO0000000000000000000000000 main()00
0000000000 000O((call.e)

A>callld

Month = 10
Day = 31, Start from = 6.

5.39 U000 O0O00O0OO0bOOoOobOoobO

gboooobooboooboboboooboooooooooooboooobOoOobobOoooOoooa
ob0oo0ooooboboobooooobooooooobObooboboobOonognwpetxtd0OOooOnO
goooooobooboooooobooooboboboooobobbbooooobobooooboboboo
0000000000000000 typetest()O readtext()0 0000000000000 000DOOO
obobOobooooboboobooooboboooobobooooooboboooooobooooo
obooooOobooboboobooooboboooboobobooboooboooon
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#include <stdio.h>

char text[5][80]; /* 00000000 =/

main(){
read_text("type.txt"); /* O0O0O0Oooono =/
type_test(); /¥ O000O0OO0O0ODO0OO =/

0000000000000 0000Oreadtext() 0000000000000 0O00DOOO0O0ODOO
Omain() 000000000000 O00O0ODO0OOOOOODOO

void read_text(char *filename){

obobooooboooooooboooood

void type_test(){

ooboooOoooboooooooobboooboooooobbooos32000boooooboooooon
0000000000000 000000Otext]|0000000000O0O0O00DMOOOOOOOOODO
goooooboooboon

00000 typetest() DO 0000000 DO00O0O0O0OO0OODOODOOODOOOOODOODOUODOO
oooooobooooobobooooboboooobobobooooobobooboooooooo
ooooooodbfrogboboobobobbOO0Ob0ODbDOO0ODbOOOO0OOO0O0ODODOODOOODbbOObOOOO
booooooooooboooooboobooogooon

void type_test(){
int i, miss, all;

miss=all=0; /* O0O0000000000000 x/
for (i=0;i<5;i++){
..... /* 0000000 0000000 =/

printf("Your Score is J%d %%\n",miss*100/all); /* miss/allxi00000000000 %/
¥

OO000D0OO0O0000s37r00oo0ooooooooobo0ooooboooooooboooooooooDo
obooooboooboooooooboooooobooboooooobooooobooooobooooo
gooooooobooooooobooooboobboooooooobooobboboboobobobooooo
00000 printf()000000000000D00O00000OOO0OO0DODO0O0DO0O0OO0O0OOOOOOO
typeline()00 0000000000000 0OOOOODOUOOODOOODOOODOOUOOOOOODOOO
ooboooboooboobobooooooboboobobooooooooboooboooooboboOoooon

int type_in(int 1i){

oodooboooobooooboooboboooobooob0 bbb oo booOon
000000000000 0000000000000000O0s.260000 getch()DODOODOOODODO
googoboboboooooooooobobobbuooooub bbb bOoooo
oo obobobooooooooDUobDb bbb b0 oooOooo o
00000000000 o00ddfor 0000000000000 OOO0OODOOODODOOODOODODOOO
do { } while ( ;000000

00000000000 0000o000oooooooOoDgetch()DO00ODOOOOODOOOODOO
goooboo0oboo0ooooobobboo0oooobbobo0o0oobObUobboooUoobbobooga
Joodoboobboooooooboboooo
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gooooo

gbooobOoooooobobooooboooobOOobOoOobOOobOOoboOoobOOobOOoboOoOooboOoDno
obooooboboboOobOoooooobooooboobooooobooobooooobooooooooon
U00o0oooDoobOob000wpetxtD 0D O0DOOO00OO0O0ODOOO0OODODOOOOOOOOOOOO
0000000000000000000000000000 0 (ttest.c)

O000Oreadtext() D000 0 Ofilename 000 0000000000000 O0ODO0O0O0O0OOOO
000000000000 00 fgets)UDOOODOOOOODODO

fgets(UOOODO, DOODOODOO, ODOOODOODOO)

goooobooboobobooobogooobooobogooooboobooboobooboboboobOoOobbo
00000000000 0000000gets)UO0D0OOUOUOOOOOOODOD\WDODOODOOOOO
00bo0Od00bOoO0o0OdbDo0ooDO0oDO0oo0o0bOobOOobOOo0DOOoOoDOoooOoONULLOOOOO
gets()00DOOD

typetest)OD OO0 D00 missJ allD0000000D00O0O

typeline() 0000000000 getch() DO 0000D00D0O0O0DOODOO0ODOOODOOODOOODOO
0000000000000 getch()D0OD00D0O0OO0D0DO0O0OUOO0OOOOOOOOgetch()ODOODO
gogobobbobooooga

540 0O0OO0OO0OOOOOOOO

0000000000 0O0OooooooooooooooMS-DOSOOOOO0oooOoOoooood
obooobobhooobooobooooboooboooobooooboooboobooooooboooooooo
oobooobooobno del000000O0ODODOOOOOO0OODOOOOODODOOOOODDOO

A>del aaal

O0000D0Odel O0O0O00OO aaaO00O0DOODOODOOOOOODOODODOOODODDOODOOOO
0000000000000 0000 main()00000 main(int arge, char *argv[ )0 O O00O00000
argcD argv0 0 0000000000000 00000000000000000000 main() 000
O0arge 000000000000 0argy(l]0000000000argy[2]00000000000O0O0O0O
ooboobboobobobuoboboobooobo

#include <stdio.h>

main(int argc, char *argv[]){
int i;

for (i=1;i<argc;i++) printf("O000 = %s\n",argv[il);
¥

boobooodbD¢testDO0O0O0O0ODOOOOOOODOODOODOO

A>test a b cl
oooo
oooo
oooo

a
b
c

gooooo
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gogd
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gbooobOoboobooboboooboobooooooooboboooooooooobOooonoo
booooboboooboobooooboobobooooobOoboooooooboboOooboooOong
obooooobooobooooooooooobooooboooboooobooooobooboboooOooOoooboooooon
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ocoooboO0ooDbOo0ooooobo0oo/00oooooooDo
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obooooobooooboboooobobooobobooooobooboon
oooooobboo/ooboobobooo
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gboooobobooobooboooooobooooooboobooooooOoooooooOooo
oboooooobooboooobobobooooooboobobbooooboobooboooooobobooooo
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A>play maze.dtO
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bobdooobooooboooobooboobooobboboobobobooobobooooboooboooooono
goooooobobooobobobooobooboboooobooboooooobooboooooobooooo
obobooobooooloot ioobocooooooooobobooobooooobooobooooob4000000
goooooboooooobooo

bbooboboobooboooooouobooooooboobooboooooobobOoboooooono
goooodoboooboooooooooooobobooooboooobooboooooooooooooon
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goobobooboooboooboooooobooooooboobooobooboooDbooon

booooboooobbobooobooboooooboooooboooboobooooboOobOoboOoOooboOono
boobOoboobooobooooobooooomobooobooboooooobOobooooonooo
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A 0O0O0OO0OOO0OO

A.1 hello.c
O0o0o0ooooooooon
#include <stdio.h>

main(){
printf ("skkkkkkxk\n") ;
printf("+ HELLO *\n");
printf ("skkkkkkkk\n") ;

}

gfdobo0oooooooooooon
#include <stdio.h>

main(){
printf ("Hxkkkkxkk\nx HELLO *\nkxskkkxkk\n'") ;

}

A.2 tanuki.c
O0o00o0o0ooo0oboooooooboobooooobooobooooonon
#include <stdio.h>

main(){
printf(" 0 O 00 00 00 00 \n");
printf(" (o.0) (0.0) (0.0) (0.0) (0.0)  \n");
printf("=( x )= =(x )= =(x)= =(x)= =(x)= \n");
printf(" U U Uuvu Uuvu Uu Uuvu \n");
printf(" 0 O 00 00 00 00 \n");
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x)= =(C(x)= =(x)= =Cx)= \n");
printf(" U U uvu Uuvu uvu Uuvu \n");
printf(" 00 00 00 00 00 \n");
printf(" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x )= =(x)= =(x)= =(x)= \n");
printf(" U U Uuvu uvu uvu Uuvu \n");
printf(" 0 O 00 00 00 00 \n");
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x )= =(x)= =Cx)= =(Cx)= \n");
printf(" U U uvu Uuvu uvu Uuvu \n");
printf(" 00 00 00 00 00 \n");
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x )= =(x )= =(C(x)= =(Cx)= \n");
printf(" U U Uuvu Uuvu Uuvu uvu \n");
}

o0oooooooooon
#include <stdio.h>

main(){
int i;

for (i=0;i<5,i++) {
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printf(" 0 O 00 00 00 00 \n") ;
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n") ;
printf("=( x )= =(x )= =(x )= =(C(x)= =(x)= \n");
printf(" U U Uuvu Uuvu Uuvu Uuvu \n");

coooooooooooooboboOobofebOO00O0ODOOOOOODOOODODOODODOODOOOODOO

#include <stdio.h>

main() {
int 1i,j;
for (i=0;i<5;i++) {
for (j=0;j<b;j++) printf(" 0O ")

printf ("\n");
for (j=0;j<5;j++) printf(" (o.o0) ")
printf("\n");
for (j=0;j<5;j++) printf("=( X )= ");
printf ("\n");
for (j=0;j<5;j++) printf(" U U ")
printf ("\n");

A.3 kuku.c

printf() 000" "%4d"0 0000000000000 0OO0OOO0OO0O0O0U0ODOOUOOOOOOODOOO

#include <stdio.h>

main(){
int 1i,j;

printf("\n *** The Multiplication Table ***\n\n");
for (i=1;i<10;i++) {
for (j=1;j<10;j++) printf("%4d",ixj);
printf("\n");
}

A.4 2kou.c

goooboooobobobobboboooboobooboobboboobboboboobooobn
oooboboooboooobooobooooooboooon

#include <stdio.h>

main(){
int h,i;

printf("Height=");scanf ("%d",&h);
printf("Income=") ;scanf ("%d",&i);
if (h>=170)
if (i>=1000) printf("I love you.\n");
else printf("Bye bye, you must work hard.\n");
else
if (i>=1000) printf("Bye bye, you are too small.\n");
else printf("Bye bye.\n");
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A.5 max3.c

oboobOobooooooboooobooooboboobooboooooooboOoobooooDno
obooobOooooooooooooobooa

#include <stdio.h>

main(){
int a,b,c;

printf("A=");scanf ("%d",&a);
printf("B=");scanf ("%d",&b);
printf("C=") ;scanf ("}d",&c);
if (a>b)
if (c¢>a) printf ("Max=%d\n",c);
else printf("Max=%d\n",a);
else
if (¢>b) printf("Max=%d\n",c);
else printf("Max=%d\n",b);

Ubob0b0a000000DO0O0O0DOCOO0OODOOODOO0ODOODbOObOOO00O0O0ObO0O0O0bOO0bOObO000
oboobOobOO0obDaa000b00000boobooocoboobooboboboboooboon

#include <stdio.h>

main(){
int a,b,c;

printf("A=");scanf("}d",&a);
printf("B=");scanf ("%d",&b);
printf("C=") ;scanf ("}d",&c);
if (b>a) a=b;

if (c>a) a=c;

printf ("Max=/d\n",a);

gobbooobooobooobooouobboooboooobooooboooboooobooobooooonn
boboooooboooooobooooboooboooobooboobooooooooooooooon

A.6 3kaku.c

10000i00x000000D0i0000SizeDOODOOOOO0ODOOOOODOOOODOODOOOOO

#include <stdio.h>

main(){
int 1i,j,Size;

printf("Size=") ;scanf ("%d",&Size);
for (i=1;i<=Size;i++) {
for (j=1;j<=1i;j++) printf("x")
printf("\n");
3
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A7 max3d.cOUO0O0O0OOOO

oboooboooooobboooboboooogon

a,b,cd0O0O

c00000| 00000| co00oo0| pooooo)|

| i) |

A.8 kaijo.c
O0o0o00o0ooobooooooooooooooooooooooooooooonoo
#include <stdio.h>

main(){
int i,n,s;

printf ("N=");scanf ("%d",&n);
s=0;

for (i=1;i<=n;i++) s=s*i;
printf ("N!'=Yd\n",s);

A.9 kisuwa.c

O0oooooooooooobooobo0bobofe00ODDODODOOOOOOOOOO0++0OODODO
obooooboooboobooboobooobooooooobOooooooboobooooboaon

#include <stdio.h>

main(){
int i,n,s;

printf ("N=");scanf ("%d",&n);
s=0;
for (i=1;i<n;i=i+2) {
s=s+i;
printf ("%d+",1);
t
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printf ("%d=%d\n" ,n,n+s);
¥

oo
#include <stdio.h>

main(){
int i,n,s;

printf ("N=");scanf ("%d",&n) ;

s=0;
for (i=1;i<=n;i=i+2){
s=s+i;
if (i==n) printf("%d=%d\n",i,s);
else printf ("%d+",1);
t
¥
A.10 gcd.c
#include <stdio.h>
main() {
int x,y;

printf ("X=");scanf ("%d",&x);
printf ("Y=");scanf ("%d",&y);
while (x!'=y)

if (x>y) x=x-y;

else y=y—X;
printf("G.C.D.=%d\n",x);

A.11 test231.c

#include <stdio.h>

main() {
int i,x,m,n;
for (i=1;i<=300;i++){
n=0;m=1i;x=1;
while (x>1) {
n++;
if ((x%2)==0) x=x/2;
else x=x*3+1;
if (x>m) m=x;
}
printf ("x=%3d max=%d step=%d\n",i,m,n);
}



A.12 00O (2)00oooooo

i0oooO

A.13 heikin.c

obobooobobooooboooobobooboboooooobooooboOooOooooon
boooobooboobOoobooooobooooooonb-10000000000O00O0D0O

#include <stdio.h>
main() {
int d,n,s;
n=0;s=0;
do {
printf ("Data=") ;scanf ("%d",&d) ;
s=s+d;
n++;
} while (d>0);
printf ("Mean=%d\n",s/(n-1));
¥

A.14 s1000.c

obooooooobooobobooooboooooboboobDobOooooObOOobDOoboooDoDOo
000000000000000000/» 000000000 n=10000000 10000000000000

#include <stdio.h>

main(){
int i,s;

for (8=2;s<=1000;s++) {
for (i=2;i<s;i++)
if ((s%1i)==0) break;
if (s==1) printf("%4d",s);
¥
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A.15 reverse.c

data[ij 00000000 datali] 0000000000000 00O0OO0DO0O0D0O0OO0O0O0ODOOOOO
oCo00++0000000000O0DOO0OO0ODODOOOODOOOOO

#include <stdio.h>

main(){
int i,datal[100];

i=-1;

i++;
printf("data=") ;scanf ("%d",&datal[i]);
} while (datalil>0);
for (i=i-1;i>=0;i--)
printf (" %d",datali]);
printf("\n");

A.16 vowels.c

#include <stdio.h>

main() {
int i,n;
char word[30];

n=0;
printf ("Word=") ;scanf ("%s",word);
for (i=0;word[i]!=’\0’;i++)
if ((word[il==’a’) || (word[il==’e’) || (word[i]l==’i’) ||

(word[i]==’0") || (word[il==’u’)) n++;
if (n==1) printf("There is a vowel in ’%s’.\n",word);
else printf ("There are %d vowels in ’%s’.\n",n,word);

A.17 shortest.c
#include <stdio.h>
main(){

int i,1;
char word[30];

1=30;i=30;
do {
if (i<1) 1=i;

printf ("Word=") ;scanf ("%s",word) ;

for (i=0;word[i]!=>\0’;i++);
} while ((i>1) || (word[0]!'=Z"));
printf("The shortest word length is %d.\n",1);

A.18 getword.c

goboooooo0oobOooooobbooboobobobooo0b0bO0DbD00bD00OWord=00ODOO
ubooOoobobobooooboobooooboooobooooooooboooobooboooboooonoog
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goooboooboo

#include <stdio.h>
#include <string.h>

main(){
int i;
char sentence[80];

printf("Sentence=") ;gets(sentence) ;
printf("Word = ");
for (i=0;sentence[i]!=>\0’;i++)
if (sentencel[il==’ ’) printf("\nWord = ");
else printf ("%c",sentencel[il);
printf("\n");

A.19 search.c

#include <stdio.h>
#include <string.h>

main(){
int i,j;
char sentence[80],string[20];

printf("Sentence = ");gets(sentence);
printf("String = ");gets(string);
for (i=0;sentence[i]!=>\07;i++){
for (j=0;string[j]!'=’\0’;j++)
if (sentence[i+j]!=string[j]) break;
if (string[jl==’\0’){
printf ("yes\n") ;
break;

A.20 oxl.c

obOooobOobooooobooboooOoobooooobOoboOobOobOOooooOoOoboOoboOoOoOoOooo
0000000000000 00000000000O00D0UOObPan[|00000DO0OOODOOOO

#include <stdio.h>
int ban[10];

initialize ()4
int i;

printf("\n *** Tick-Tack-Toe Game ***\n");
printf (" ver.1l Man - Man\n\n");
for (i=1;i<=9;i++) ban[i]=0;

}

input (int j){
int k;
do {
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printf ("==> ") ;scanf ("%d",&k);
} while ((k<1) || (k>9) || (ban[k]'=0));
ban[k]=j;
t

suuji(int j){
switch(ban[j]) {
case -1 : printf(" X "); break;
case 0 : printf(" %d ",j); break;
case 1 : printf(" 0 ");

}

yoko(int i){
printf(" [ \n");
printf(" ") ;suuji(i);printf("|");suuji(i+l) ;printf("|");suuji(i+2);printf("\n");
printf (" [ \n");

}

display(O{
yoko (1) ;
printf (" ———t———+——-\n") ;
yoko (4);
printf(" ___+___+___\11") ;
yoko (7);

main() 00 0000000000000 00O0OO

A.21 ox2.c

#include <stdio.h>
int ban[10];
#include "ox1.c"

int a(int i, int j, int k) { /* O0a000000014, j, kOOOO0O0O00O00 =/
return (ban[i]+ban[j]+ban[k]);
}

int test(int f){
if (a(1,2,3)==f || a(4,5,6)==f || a(7,8,9)==f || a(1,4,7)==f ||
a(2,5,8)==f || a(3,6,9)==f || a(1,5,9)==Ff || a(3,5,7)==f)
return (1);
else
return (0);

}

int owari(){

if (test(3)==1) {
printf("O00000\n");
return (1);

}

if (test(-3)==1) {
printf("O 00000 \n");
return (1);

3

return (0);
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main(){

int 1i,j;
initialize(); /* OD0000000O0Ovan[ 10000 %/
display(); /* ban[ 1000 */
j=1;
for (i=0;i<9;i++) {
input(j); /* 00000000000 =/
3="3;
display(); /* ban[ 1000 */
if (owari()==1) break; /* 00000000 for OOOOO %/
}
¥
A.22 ox3.c

#include <stdio.h>
#include <stdlib.h>
#include <time.h>
int ban[10];

#include "ox1.c"
#include "ox2.c"

void umeru(){

int i;
while (ban[i=(rand()%9)+1]1'=0) ;
ban[i]l=-1;

}

int t(int i, int j, int k){
switch (ban[il+ban[jl+banl[k]) {
case 2
case -2 : if (ban[i]==0) ban[i]l=-1;
else if (ban[j]l==0) ban[j]=-1;
else ban[k]=-1;
return (1);
default : return (0);
¥
¥

int tomeru(){
if (£(1,2,3) || t(4,5,6) || t(7,8,9) || t(1,4,7) ||
£(2,5,8) || t(3,6,9) || t(1,5,9) || t(3,5,7))
return(0) ;
else
return(1);

}

main() 0000 ox2.cO0000O0OO

A.23 ox4.c

#include <stdio.h>

#include <stdlib.h>

#include <time.h>

#define MESSAGE " ver. 4 : Man - Machine\n\n"



int ban[10];

#include "oxl.c
#include "ox2.c

void umeru(){

int i;

if (ban[5]==0)

i=b;
else
if (ban[1]*ban[3]*ban[7]*ban[9]==0) /x O000O00O0O0OOO0O
do {

while (ban[i=(rand()%9)+1]1!=0) ;
} while ((i'=1) && (i'=3) && (1'=7) && (i'=9));
else
do {
while (ban[i=(rand()%9)+1]!=0) ;
} while ((i'=2) && (i'=4) && (i'=6) && (i!'=8));
ban[i]=-1;

¥
0o O 0 0
main(){
int 1i,j;
char ans;
initialize(); / ODO0000O0O0OODO®v anl 10000 =/
printf("O00000 (y/n) ");scanf("c",&ans);
if (ams==’y’) {
j=1;
display(); / 00000000D000000000 =/
} else j=-1;
for (i=0;i<9;i++) {
if (j==1) input(j);
else if (tomeru()) umeru();
3="3;
display(); /¥ ban[ 1000 =/
if (owari()) break; /¥ 00000000 for OOOOO %/
t
t

oxl.c OOOOO

void initialize(){

int i;

printf("\n *** Tick-Tack-Toe Game ***\n");
printf (MESSAGE) ; / QO0O0000ogo */
for (i=1;i<=9;i++) ban[i]=0;

srand(clock());

A.24 dicel.c

#include <stdio.h>



#include <conio.h>

void disp(int i){
switch (1) {

case 1 : printf(" \n e O\nOODO\n");break;
case 2 : printf(" e\n [O0O\ne OO\n");break;
case 3 : printf(" e\n e [O\ne [OI\n");break;
case 4 : printf("e e \n O\ne [Je \n");break;
case 5 : printf("e e \n e [J\ne [Je \n");break;
case 6 : printf("e e \ne [Je \ne [Je \n");
t
t
main(){
int i;
printf("Hit any Key!\n\n");
i=1;
do {
if (++i>6) i=1; /* i00000000000044 */
} while (kbhit()==0); / 0000000000000 00 =/
getch(); /* OO0O0O0O0oooooog */
disp(i);
3
A.25 dice2.c
#include "screen.c"
#include <conio.h>
void disp(int i, int y, int x){
color(black+i); /« 0000000000000 DOOooog =/
locate(x,y);
switch (i) {
case 1: printf (" \n") ;break;
case 2: case 3: printf(" e \n'") ;break;
default: printf("e e \n'");
}
locate(x,y+1);
switch (i) {
case 1: case 3: case b:
printf(" e \n");break;
case 6: printf("e e \n");break;
default: printf (" \n");
3
locate(x,y+2);
switch (i) {
case 1: printf (" \n") ;break;
case 2: case 3: printf("e \n'") ;break;
default: printf("e e \n'");
}
3
main() {
int i;
cls();cursol (OFF);
locate(20,10) ;printf("Hit any Key!\n\n");
i=1;
do { /« 0000000000000 00D00O00 =/

if (++i>6) i=1;



disp(i,15,10) ;disp(i,15,20);disp(i,15,30);

} while (kbhit()==0);

getch();

do { /* D000000000000D000000 =/
if (++i>6) i=1;
disp(i,15,20);disp(i,15,30);

} while (kbhit()==0);

getch();

do { /* O0000000D0D0O0OO000O0O0Og =/
if (++1i>6) i=1;
disp(i,15,30);

} while (kbhit()==0);

getch();

color(white);

cursol(ON);

oboobooboobooobotobmobOooOOooOOobOObOO0o0obO0o0o0obo0oooobooOooona
main() 00 0000000000000 0OOOOOOOOOO

main(){
int i,j,k,m;

cls() ;cursol (OFF);
locate(20,10) ;printf("Hit any Key!'\n\n");
i=j=k=1;
for (m=0;m<3;) {
if (kbhit()) { /+* ODODUODO0OOmO0OO0OO0D0-000000000000 =%/
m++;
getch();
}
switch (m) {
case 0 : if (++i>6) i=1;disp(i,15,10); /* break DO ODODOODODO */
case 1 : if (++j>6) j=1;disp(j,15,20);
case 2 : if (++k>6) k=1;disp(k,15,30);
}
3
color(white);
cursol (ON) ;

A.26 dice3.c

#include "screen.h"
#include <stdio.h>
#include <conio.h>

void disp(int i, int y, int x){
OO0000D00O0dice2.cO0000O0DOOOODODO
}

int onegame(){ /* 0000000 int OOO %/
int i,j,k,m;

cls();cursol (OFF);
locate(20,10) ;printf ("Hit any Key!");
i=j=k=1;
for (m=0;m<3;) {
if (kbhit()) {
m++;

’



getch();
}
switch (m) {
case 0 : if (++i>6) i=1;disp(i,15,10);
case 1 : if (++j>6) j=1;disp(j,15,20);
case 2 : if (++k>6) k=1;disp(k,15,30);
}
}
color(white);
cursol (ON);
if ((i==j) && (j==k)) return (10); /* 0000000000 =%/
if ((i==3) || (j==k) || (i==k)) return (3);
return (0);

}

int game (){
int i,s;

s=0;
for (i=0;i<b;i++) s=s+onegame();
return (s);

}

main(){
printf("000 = %d\n",game());
¥

A.27 diced.c (1)

#include <stdio.h>
#include <conio.h>

int game(); / DOO000OOO0OOOoOoOoOooooooono =/

main(){
int p,top;
char name[16];

top=-1;
do {
printf("\n\n0O 00O = %d\n",p=game()); /* O000p00000O00O =/
if (p>top) {
top=p;
printf ("Your Name = ");scanf("%s",name);
}

printf("Do you want play again? (y/n) : ");
} while (getch()==’y’);
printf("\n\nHigh Score is %d by %s.\n",top,name);

A.28 diced.c (2)

#include <stdio.h>
#include <conio.h>

int game(); /* J0000000000000000O0o0O =/
int top; /* topU name[ read_scoreO 0 UIDDODOODOODOO =/
char name[16];

void read_score(){ /+ 00000000 void =/



}

FILE *fp;

fp=fopen("dice.max","r");
fscanf (fp,"%s" ,name) ;
fscanf (fp,"%d" ,&top) ;
fclose(fp);

void write_score(){ /+* 00000000 void =/

FILE *fp;

fp=fopen("dice.max","w");
fprintf (fp, "%s\n%d\n" ,name,top) ;

fclose(fp);
}
main(){
int p;
read_score();
do {
printf("\n\nO 00O = %d\n",p=game()); /* 0000000000 =/
if (p>top) {
top=p;
printf ("Your Name = ");scanf("%s",name);
}
printf("Do you want play again? (y/n) : ");
} while (getch()==’y’);
printf("\n\nHigh Score is %d by %s.\n",top,name);
write_score();
}

e JOOODOODOO

#include <stdio.h>
#include <conio.h>

int game();
int top;
char name[16];

void read_score(){

}

FILE *fp;

fp=fopen("dice.max","r");

while (fscanf (fp,"%s",name)!=-1) {
fscanf(fp,"%d",&top); /* O00000ODOCOOOOCOOOODOOOCOOOOOOOOO
printf ("%d by %s.\n",top,name);

¥

fclose(fp);

printf("\nHit Any Key!! ");/x 000000000000 OOCOODOOOOODOO =/

getch();

void write_score(){

FILE *fp;

fp=fopen("dice.max","a"); /*x 0000 wO 000000 =/
fprintf (fp, "%s\n%d\n" ,name,top) ;

fclose(fp);

Ut
Tt

*/



main(){ /* write_score()O0O00O0ODOOO0O =%/
int p;

read_score();
do {
printf("\n\n0O 00O = %d\n",p=game());
if (p>top) {
top=p;
printf ("Your Name = ");scanf("%s",name);
write_score(); /+* O0O0O0O0O00OO0O0OO0OOOOOOOOOO =/

¥
printf("Do you want play again? (y/n) : ");

} while (getch(O)==’y’);
printf("\n\nHigh Score is %d by %s.\n",top,name);

A.29 wc.c
#include <stdio.h>
main(){

char 1ine[80];
int i;

for (i=0;gets(line) !=NULL;i++);
/* 1=0; while (gets(line)!=NULL) i++; while 0O DOOO0O */
/* i=-1; do { i++; } while (gets(line)!=NULL); do while OO OOOO =/
printf("There are %d lines.\n",i);

}

A.30 tail.c

obooooboboooboobobooboboooooooooooboobooooboooboooboooo
goooobooobooboooboooooooobooooooboobooboobooboooobooboooboobooo

#include <stdio.h>

main(){
char lines[100][80]; /+* O0O800O00O0OO0OO0ODO0O 1000 */
int 1i,j;
for (i=0;gets(lines[i]) !=NULL;i++); /* 00000 1lines[1O00O0O0O0OO */
for (j=i-5;j<i;j++) puts(lines[j]); /¥ ODO00O00DOOO0OOO */

}

booooOobobooboboboooboobobooooooboooooobooooooobooooo
oboooobooboobOooooooboooooOooboooboOoooooooobooooooooon
goooboooboobooboooogobooooooboboobooDo

#include <stdio.h>

main(){
char lines[6][80]; /* OO0 O0OO0OODODOODOOOOOODOOO =/
int i,n;

for (n=0;gets(lines[n++6])!'=NULL;) ; /* OOODODOOOOO =/
for (i=0;i<5;i++) puts(lines[n++%6]);

}



A.31 wc2.c
OO0 stringhODOOOOODOODDOO

#include <stdio.h>
#include <string.h>

main(){
char 1ine[80];
int i,s;

s=0; / D0000000DO0O0O0O0O0O00a =/
for (i=0;gets(line) !=NULL;i++) s=s+strlen(line);
printf("There are %d characters in %d lines.\n",s,i);

O000O0stilen()DOO0OO0O0OO0ODOOOOODO

#include <stdio.h>

int strlen(char *p) {
int i;
for (i=0;*p++ !'= >\0’;i++);
return (i);

}

main(O{ /* 00000000 =/
char 1ine[80];
int i,s;
s=0;

for (i=0;gets(line)!=NULL;i++) s=s+strlen(line);
printf("There are %d characters in %d lines.\n",s,i);

0000000 strlen()0 000000000000 Ostrlen() 0000000000 main()000OO
ogo0o0ooo0oooobooooooooooo

#include <stdio.h>

main(){

char 1ine[80],#*p;

int i,s;

s=0;

for (i=0;gets(line) !=NULL;i++)

for (p=line;#*p++ != ’\0’;s++);

printf("There are %d characters in %d lines.\n",s,i);

¥

A.32 call.c

#include <stdio.h>

void calmonth(int month, int *day, int *week){
switch (month){
case 1 : *xday=31;*week=6;break;
case 2 : *day=28;*week=2;break;
case 3 : *day=31;*week=2;break;
case 4 : *day=30;x*week=5;break;



case b5 : xday=31;*week=0;break;
case 6 : *day=30;*week=3;break;
case 7 : *day=31;*week=b5;break;
case 8 : *day=31;x*week=1;break;
case 9 : *day=30;*week=4;break;

case 10 : *xday=31;*week=6;break;
case 11 : *xday=30;*week=2;break;

case 12 : *day=31;*week=4; /¥ 000 break; 0O O */
3
3
main() {
int 1i,j,k;
printf("Month = ") ;scanf("%d",&i);
calmonth(i,&j,&k);
printf("Day = %d, Start from = %d.\n",j,k);
t

000000000000 00000000000 Dealmonth()000D0O0DOOO

void calmonth(int month, int *day, int *week){
int i,s;

s=0;*day=0; /* sO0000000000D00O000000 %/
for (i=1;i<=month;i++) {

s=s+xday;

switch (i){
case 1 : *day=31;break;
case 2 : *day=28;break;
case 3 : *day=31;break;
case 4 : *day=30;break;
case b5 : *xday=31;break;
case 6 : *day=30;break;
case 7 : *day=31;break;
case 8 : *day=31;break;
case 9 : *day=30;break;

case 10 : *day=31;break;
case 11 : *day=30;break;
case 12 : *day=31;
}
b
*week=(s+6) % 7;
}

A.33 ttest.c

#include <stdio.h>
#include <conio.h>
#include <string.h>

char text[5][80];

void read_text(char *filename){
FILE *fp;
int 1i;

fp=fopen(filename,"r");
for (i=0;i<5;i++){
fgets(text[i],80,fp); /+ 800000 OOOODOODOOOODO =/



text[i] [strlen(text[i])-1]=°\0"; /% fgetsQ U OO ODOODOOODOO\NnOOODO=*/
}
fclose(fp);
}

int type_line(int i){
int j, m;

m=0; /+ mO0000O0000COCO0O0O =/

for (j=0;text[i][j]!=">\0’;j++){
while (text[i][j]!=getch()) m++; /* getchO DO D000 000O00OmOOODOOx/
printf ("%c",text[11[j1);

}

printf ("\n\n");

return (m);

}

void type_test(){
int i, miss, all;

miss=all=0;

for (i=0;i<5;i++) {
all=all+strlen(text[i]);
printf ("%s\n",text[i]);
miss=miss+type_line(i);

}

printf("Your Score is %d %%\n",miss=*100/all);

¥

main(){
read_text ("type.txt");
type_test();

}

A.34 ntype.c

ttypecOmainO0 0000000

main(int argc, char *argv[]){
if (argc==2) read_text(argv[1]);
else read_text("type.txt");
type_test();

}

A.35 play.c

#include <stdio.h>

char q[100][400]; /0000000000000 000000 =/
int sn[100],to[100][10]; /* qDO0000sn0O00D000O0DOteDOOO =/

void read_data(char *filename){
FILE *fp;
int 1i,j;

fp=fopen(filename,"r");
while (fscanf (fp,"%d",&i)'=-1){
fgets(qli],300,fp);
fscanf (fp,"%d" ,&snlil);
for (j=1;j<=snl[il;j++) fscanf(fp,"%d",&tol[i]l[j]1);



}

fclose(fp);
}
int play_data(int i){
char *p;
int j;
for (j=0;%q[j1!="\0";j++) /00000000000 00=/
if (q[jl==°/’) printf("\n"); /x OO0OD0OOOODO0O */
else printf ("%c",qlil1);
do {
printf(" ==> ");scanf("%d",&j); /¥ DO 0O0OO0O0OO0OOON=*/
} while (j>sn[il); / 0000000000000=%/
return (to[il[j]l); /* DODOOODOO0OODOOOOODOOOODODOOOOO =/

}

main(int argc, char *argv[]){
int i;
read_data(argv[1]); /x OOO0OO0OOOCOOOOO =/
i=1;

while (i=play_data(i));
}

boooobobooobboooooooboobobooooboboooooobooooooboooboOoona
ood
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